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  !���"#�����$� %.���$� �.$��$%
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��.��%��
.�
<3�=�� %�1.�� �2%='3� 19° 08' 38" 
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8� �2�2.�
(���������ก=7���%�) $�2ก�������#$ก� Y 
8� �2��"
��� 3
   
                   (�����������%�) '�ก����กU��ก� #�%��'K�.��6�#/�U�%6�# 
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                   335  ��%� ��#J���ก�"� #�ก��-���#� 6.3 7��� #�.����กJ�������'2.����#�ก=�/8��.���%#ก��-$�2 
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                  ��3� � /=ก�� X �.��ก�" 0 ก=7���%� $�2 Y �.��ก�" 630 ��%� 
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����#��
��0
 (����) ����	

(ก5>�����) 

1300 0.00 
1200 0.65 
1100 1.55 
1000 2.95 
900 4.90 
800 7.65 
720 9.40 
700 9.95 

Slope �������  !���$�������4
 P.75  
�.$��$%
 '.����
���� 

������������� = 111,940 ��%� 
�2��"%��
ก�� = 295 ��%� 

��������������� = 1:379 

��������� = 0.00264 
 



680 10.95 
660 15.45 
640 17.95 
620 22.20 
600 23.20 
580 24.70 
560 25.80 
540 28.55 
520 29.55 
500 31.65 
480 35.15 
460 38.15 
440 46.90 
430 47.35 
420 55.10 
400 61.10 
390 73.00 
380 74.45 
370 79.46 
360 84.95 
340 106.40 
335 111.94 
320 131.90 
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                                                     Q    =      AV 
                                                V    =   (1/n) R2/3 S1/2 

��8�� 
 n = 
�� ����2 =.0=h��
$���=�
 (Manningis Coefficient) 

 R = �����6m����=
 (Hydraulic Radius) 
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